ESS 70 SD MT POCKET_Vent assembly manual

1) Assemble the vents with screws then seal the corners and fix the hole cap.

SCREW
(PAN HEAD m4x45)

VENT

90 degree assembly
with sealant

SCREW
(PAN HEAD m4x45)




ESS 70 SD MT POCKET_Vent assembly manual

2)Fix the vents interlock cover with screws, then insert the gasket(E70 GO1)
and /x/ mohair.

/0 GOT

s st 757 MOHAIR

—E/0 POZ

— 7x15 MOHAIR—

* Follow the direction below.

..... |

T L
e =
a——== i

7 et
I ,

I

| s
e e =
ael—= =



AutoCAD SHX Text
7X7 MOHAIR

AutoCAD SHX Text
E70 P02

AutoCAD SHX Text
E70 G01

AutoCAD SHX Text
30


ESS 70 SD MT POCKET_Vent assembly manual

4) Assembly VENT1 — Bottom attachment(E70 VO7), Bottom cap(E70 ICL)

T

T E/70 VO7/
@400mm Pan head screw m4x12 ‘
E70 ICL
Location for 7x15mm mohair inserting T

Flat head screw m4x16




ESS 70 SD MT POCKET_Vent assembly manual

5) Assembly VENT2 — Bottom attachment(E70 V07), Bottom cap(E70 ICL)

Location for
/x15mm mohair inserting

Flat head screw m4x16

T

@400mm Pan head screw m4x12

E70 VO7

> E70ICL

Location for 7x15mm mohair inserting T

Flat head screw m4x16




ESS 70 SD MT POCKET_Vent assembly manual

6) Assembly VENT3 — Bottom attachment(E70 V07), Bottom cap(E70 ICL)

SCREW
(PAN HEAD
m4x45)

Pocket attach profile to be
assembled after locating the vent onto the frame.

@10 HOLE CAP

T @400mm PAN HEAD SCREW m4x12

Location for 7x15mm mohair inserting

Flat head screw m4x16




ESS 70 SD MT POCKET_Vent assembly manual

Extra) Al sleeve of head and sill

15.5 40 |
- @ﬂ G
- L SN - I
@*@L ) )
© @
Length: 200mm
@ © @

T
Sealanting

E%uﬁ \ N
Pan head self drilling screw #8(4.2mm)




